_______________________________________________________________ 

Excel Assignment #5– EC 11

Determining Output at a Perfectly Competitive Firm
______________________________________________________________________________

The purpose of this assignment is to demonstrate the profit-maximizing behavior of a perfectly competitive firm. As you should understand from your readings (and course lecture) a competitive firm is one that takes price as a given. Most of our good examples of perfect competition involve farming examples, since it is only in the agriculture sector that we have many firms, free entry and exit and a homogeneous product – all conditions of perfect competition.

You must turn in:

· Your spreadsheet

· A copy of your graphs

· A copy of the answers that appear at the end of this assignment

Directions:
On my webpage, retrieve the excel spreadsheet that accompanies this assignment. On that spreadsheet you will see the costs associated with a particular level of output for Eastern Sweet Corn, our farming business. Note that production is in 100 bushel units. The price provided below will be per 100 bushels.
Step 1:
Fill in the excel spreadsheet. Note that AVC, ATC and MC refer to average variable cost, average total cost and marginal cost. For the “Revenue” column, assume the price received by the farm is $6 per bushel, or $600 per 100 bushels (as in the spreadsheet). Once your revenue column is filled in, then calculate the profits made by Eastern at each level of output (revenue minus cost). Note the profit-maximizing point.
Step 2:
Graph the MC, AVC, ATC and demand (price) curves. Note the shape of the curves.

Make sure you save your spreadsheet!
Questions:
1. What is the equilibrium price and quantity for Eastern? What are the farm’s profits?
2. Does this represent a long-term equilibrium for the corn market as a whole? If not, what would you expect to happen to output and prices?

.

3. Suppose that Eastern goes organic. What assumption about the conditions of perfect competition is the farm trying to undo?
4. If the market price facing the farm was only $400 per 100 bushels, what are the profits (or losses) for Eastern now? 
a. Will the farm produce corn in the short-run? What about the long-run at this price?
